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⑤(b)
Theof the 70 ways :

:

the 8 total spots
[Pick 4 spots from 0 O 0 O

E
--------

where the O's go.

This can
be done -

in (4) =!

= 70 ways

2:

Now there is no choice
at this point, you

must fill
the remaining

4 spots with[1s . Thus , only
I possibility at

this

-

step.
The above example

becomes

O o 1 0 1 0 I I
--------

Answer
L

- :

Total # of sequences

[is 7001 = 70











⑦
There are

St6 =11 people that
can

sit down in a row.

#II
Il 10

possibilities possibilities

So
,
there are 11 ! =39 ,916 , 800

ways the

mathematicians
and biologists can

sit down.

Now we
count the number

of ways

they can
sit down

with the
mathematicians sitting

together and
the biologists

sitting together.

Thereare two possible templates .
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